	Type
	Advantages
	Disadvantages

	Reg-Reg (0,3)
	- Fixed length instruction encoding

- Simple code generation model

- Similar execution time (pipeline)
	- Higher instruction count

- Some instructions are short leading to 

  wasteful bit encoding

	Reg-Mem (1,2)
	- Direct access without loading

- Easy instruction encoding
	- Can restrict # register available for use

- Clocks per instr. varies by operand type 

- Source operands are destroyed

	Mem-Mem (3,3)
	- No temporary register usage

- Compact code
	- Less potential for compiler optimization

- Can create memory access bottleneck


